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Internal Assessment Test | - April 2019
Sub | Discrete Mathematics and Statistics - Sub Code 18MCA23
Date | 16™ April 2019 ' Duration | 90 mins } Max Marks 50 Sem / Sec I[I MCA OBE
Q1 is compulsory Answer any six from Q2to Q8 MARKS |[CO |RBT |
1,Fit a parabola for the given data CO4 L3
: 15X
Year 1961 1971 1981 1991 2001 [08] 01 33'7‘
Production 8 10 12 10 16 9 =G =\ e
= =>C —\9g | (Or) )
2.Fit an7e§<ponent1al curve y = ae™ for the given data. = G < 7 = ]+ & =
2 0 2 4 | S6 ﬁ:c =20
y 5.02 10 31.62 Scy=12 ek

3.A coin is tossed 3 times. Let X denote the number of heads showing up. Find the [07] C 03 L3
distribution of X. Also find its mean, variance and standard deviation. E
(Or) |
1 L3
3.Given the equations of regression lines 8x-10y+66 = 0 and 40x - 18y =214 . Find the mean  [07]
of x and y series and the correlation co-efficient. Find S.D of'y if S.D of x is 3. *
(on) |
When a coin is tossed 6 times, using binomial distribution, find the probability of getting '
a) exactly one head b) at most 3 heads c) at least 3 heads. g

[07] |co3 L3 |
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, Internal Assessment Test Il - April 2019
Sub: Discrete Mathematics and Statistics Sub Code: 18MCA23
Date: 16" April 2019 Duration: = 90mins | Max Marks: |50 | Sem/Sec: 1 MCA OBE
. Qlis conipulsorv Answer any six from Q2 to Q8 MARKS [CO | RBT
1.Fit a parabola for the given data [08] C 01 13
Year 1961 1971 1981 1991 2001
Production 8 10 12 10 16

2.A coin is tossed 3 times. Let X denote the number of heads showing up. Find the [07] ‘(-f03§ L3
distribution of X. Also find its mean, variance and standard deviation. |

3.Given the equations of regression lines 8x-10y+66 = 0 and 40x-18y = 214 . Find  [07] fix"‘é’i?”'“!??"»
the mean of x and y series and the correlation co-efficient. Find S.D of y if S.D of x 3
is 3.
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